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1. A& = 7 1821900 1,821,900
BEA @ _\3,850 A x 350 B x 1 A =_\1,347,500
BEB @ 2870 H X 120 B¥R x 1 A = 344,400
BEC @ 2600 @ X 50 RS x 1 A = 130,000
BE @ Fx R < A FAHLTESD
2. BRE 1,468,870 1,468,870
MWEES 653,250 653,250
FEHE @ 20,000 § X 5N x 5[ = 500,000
FEERE @ 10,000 H x 3 AN X 5[ = 150,000([ = A 1L
REBE @ 150 B X% 5N x 5[ = 750|| <f=2&N
E¥MERE @ 500  x 5N X 5[ = 2,500
QB ERE 15,600 15,600
@ 1,200 @ x 3N X 2[ = 7,200
@ 1,400 H x 20 x 3[ = 8,400
(3ENRIE 33,000 33,000
@ 2,000 @ x = 12,000
@ 3000 @ x 7 = 21,000
(OEEERE 2,820 2,820
EHEEH @ 120 @ X 720
@ 300 @ x 7 = 2,100
G E AGE 650,000 650,000
WHHEEA @ 2600 @ x 250 ERS = 650,000
WEEEB @ A x R R 0
G EER/H 6,000 6,000
@ 3000 @ x 2 = 6,000
@ B x = 0
(MILRE 100,000 100,000
@ 100,000 H x 1 100,000
@ B x = 0
B EFELE 8,200 8,200
@ 3500 @ x 2 = 7,000
@ 1,200 § x 1 1,200
OFDMBEICHELZEDHONIRE 0 0
@ B x = 0
3. ¥BERE 4,000,000 4,000,000
@ 4,000,000 F x 1 = 4,000,000
&t 7,290,770 7,290,770
XRBEIRAUELTHEREERNLTEEL TS, A {TEREEEE
FEL, AREMEPI7 ~A ISR LT AR A EERSEESHTEELTHEVER A, 7,290,770
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